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Question Number : 1 Question Id : 6232171992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Discussion method can be used when

Options:



1 the topic 1s different

the topic 1s easy
2.

. the topic 1s very difficult

the topic 1s known

Question Number : 2 Question Id : 6232171993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following 1s not a teaching aid?
Options:

1 16 mm film projector

Working model of photosynthesis
z.

Tape records
3.

Computer system
4.

Question Number : 3 Question Id : 6232171994 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The quality of teaching 1s reflected
Options:

1 by the quality questions asked by students

by the duration of sentence maintamed i the class
2.

. by the pass percentage of students



by the attendance of students in the class
4

Question Number : 4 Question Id : 6232171995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The detention system in primary schools may reflect the

Options:
| Dbassrate m the classroom

, absenteeism of students

drop-out rate increase
=

) disinterest among the students

Question Number : 5 Question Id : 6232171996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The team teaching has the potential to develop
Options:

the habit of supplementary teaching of each other

competitive spirit among students
co-operation among the students

highlighting the gaps in each other’s teaching
4

Question Number : 6 Question Id : 6232171997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In open learning system, the teacher’s role 1s to

Options:



guide the students of their interest
supply material needed
eive coaching through a centre

leave the students to learn on their own

Question Number : 7 Question Id : 6232171998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

One of the most powerful factors affecting teaching is related to

Options:
prevailing political situation

economic status of the student
social system of the country

education system

Question Number : 8 Question Id : 6232171999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

In which teaching method learner’s participation is made optional and pro-active?
Options:
1 Project method

Buzz session
2.

Discussion method
=



Brain storming session
4.

Question Number : 9 Question Id : 6232172000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Effectiveness of teaching has to be judged in terms of
Options:

student’s mterest

learning outcomes
course coverage

use of teaching aids in the classroom
4

Question Number : 10 Question Id : 6232172001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Formulation of hypothesis may not be necessary in

Options:

; normative studies

experimental studies
2.

historical studies
=,

, survey studies

Question Number : 11 Question Id : 6232172002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The information about population 1s called a parameter while the information

corresponding to a sample is called

Options:



; Inference
; Universe

Sampling design
=

Statistic
4.

Question Number : 12 Question Id : 6232172003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Reliability of a research result implies its

Options:
usefulness

uni (UEIIESS

verifiability
3.

validity
4

Question Number : 13 Question Id : 6232172004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A good researcher lays his hands on
Options:

| any area of his mterest

, many areas and ftries to understand them at basic level

a specific area and tries to study 1t in great details



a specific area and tries to study 1t in minute details
4,

Question Number : 14 Question Id : 6232172005 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The usual sequence of steps in doing action research 1s

Options:

reflect, observe, plan, act
1

plan, act, observe, reflect

plan, reflect, observe, act
3.

act, observe, plan, reflect
4,

Question Number : 15 Question Id : 6232172006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one of the following 1s a non-probabilistic method of sampling?
Options:

Stratified sampling

Purposive sampling
2.

Systematic sampling
=

Simple random sampling
4.

Question Number : 16 Question Id : 6232172007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The appropriate sequence of steps of research that a researcher has to follow is
A) Collection of data
B) Listing of the objectives of research

L.} Methodology to be adopted

D) Data analysis
E) Results and discussion
F) Identification of the research problem

Options:

F,C. B DA E

EB.a 1O 8

2

E A8 G D.E

2

e RO A DE

Question Number : 17 Question Id : 6232172008 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The research stream that has an immediate application 1s
Options:

Action research

Empirical research
2.

Fundamental research

Experimental research
4,

Question Number : 18 Question Id : 6232172009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Ethical norms in research do not mvolve guidelines for

Options:

patenting policy
1.,

data sharing policy
2.

copy right policy
3.

format of thesis

Sub-Section Number: 2
Sub-Section 1d: 62321768
Question Shuffling Allowed : Yes

Question Id : 6232172010 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Juestion Label - Comprehension



Read the following passage and answer the questions given:

Education and ambition by themselves would have taken people nowhere without an
expanding economy. Perhaps, even, the expanding economy explained the shift in Indian
education. For Pravas, an engineer. the expansion had started some time before
independence, when the old British emphasis on law and order (especially after the Indian
Mutiny of 1857) had been modified by the idea of development.

Many people were sucked into that process. There was an explosive growth in India
around 1930. It built momentum around 1947, had a big growth thereafter, and is now
slowing down. In 1962, when I was thinking of universities and a career, I had a choice
of professions and institutions. People today have to struggle hard. But these things have
a positive side.

“The average aspiration of the Indian 1s to grow under a shadow-and this 1s all right
as long as someone else throws the shadow. In concrete terms, this means you look for
employment, you try to get info structures created by other people. That’s how we got
governed in the first place. The attitude is “As long as the local environment is the same,
I don’t care who 1s running things at the top”. I read something in a paper some time ago.
It was to the effect that, before the British came to India, the Indians were like bees in a
garden. And that’s fine as long as someone else looked after the garden. And of course
the Britishers became both the owners of the garden and the gardeners, the malis — with
those other guys, the bees. going happily from flower to flower’.

“What about the positive side of the struggle today?’

“That shadow area I talked about 1s becoming congested now. It is forcing people to

go out on their own. It 1s forcing them to be entrepreneurial.’

Sub questions

Question Number : 19 Question Id : 6232172011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What 1s fundamental for the growth of a nation?

Options:



Education

1.

Ambition
2.

Economy
=3

g Law and order

Question Number : 20 Question Id : 6232172012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What did the British emphasize on after the Indian Mutiny of 1857?
Options:
The 1dea of development
1.

Law and order
o

Ancient Indian model of education

) Expansion of the Empire

Question Number : 21 Question Id : 6232172013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When did choice of professions and institutions become comparatively easier?
Options:
After 1857
Around 1962

Around 1930



After 1947

Question Number : 22 Question Id : 6232172014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
What 1s the average aspiration of the Indian?
Options:

Employment in structures created by other people
.,

To be governed by the British

Expanding economy
=3

) Self employment

Question Number : 23 Question Id : 6232172015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
According to the passage, what 1s the concern of Indians?
Options:

The rulers at the helm of affairs

; Newspaper 1tems

Engineering education
=,

[ocal environment
4.

Question Number : 24 Question Id : 6232172016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who are compared to bees in a garden?

Options:



The British officers

The Indians
5 The gardeners

) Owners of the garden

Question Number : 25 Question Id : 6232172017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Who become the owners of the garden and the gardeners?
Options:

Only the bees

. The Indians

. Only the flowers

The Britishers
4

Question Number : 26 Question Id : 6232172018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
What 1s the positive side of the struggle?
Options:

Indian find shelter
1.

Indians love green gardens
Z.

Indians are forced to be entrepreneurial
3.



, Indians could freely roam around

Question Number : 27 Question Id : 6232172019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What do you understand by “That shadow area ...... 1s becoming congested now™?
Options:

Densely populated
14

Heavy competition for employment 1n structures created by other people
2.

] Shadow becomes darker

) Thinly populated

Sub-Section Number: 3
Sub-Section 1d: 62321769
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232172020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The non-verbal communication is also known as
Options:

Speaking communication
1

Verbal communication

Body language
3.

Interpersonal communication

Question Number : 29 Question Id : 6232172021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The communication about the relationship among people is called
Options:

1 Interpersonal communication

Meta-communication

Speaking communication
3.

Media communication
4

Question Number : 30 Question Id : 6232172022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Communication with touch behaviour called
Options:

1 Aesthetics
; Proximics

Eugenics
3.

) Haptics

Question Number : 31 Question Id : 6232172023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Effective communication imvolves
Options:

One-way process
14

Two -way communication
2.



Two-way communication with feedback
3.

Two-way communication and Two-way communication with feedback
4,

Question Number : 32 Question Id : 6232172024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
One of the following 1s not related to communication cycle.

Options:

Sender
Message
Channel

i Noise

Question Number : 33 Question Id : 6232172025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
“With words we govern peoples”, said by

Options:

John Dewey
1.,

Benjamin Disrael
2.

Rufford Murdock

3

Mc Greger
4.

Question Number : 34 Question Id : 6232172026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The number of ingredients involved i the Aristotle’s model of communication are

Options:

.q

1.

e

Question Number : 35 Question Id : 6232172027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

‘Shared Experience’ is considered to be a key element in communication emphasised by
Options:

John Dewey

, Aristotle

] David Berlo

John Locke

4

Question Number : 36 Question Id : 6232172028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The “Nobel’ style of communication i1s on one of the following elements.

Options:

1 Rehetoric

Non-assertion



Persuation

) Authority

Question Number : 37 Question Id : 6232172029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following numbers have a pattern. Identify the pattern and fill the blank.

165,195,255 285,

Options:

345

Question Number : 38 Question Id : 6232172030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The following words have a pattern. Identify the pattern and fill the blank.
CDJP. EEIQ, GFGS, N < =

Options:

IGDU
IGDV
2

JGDU

GJIDV
4,



Question Number : 39 Question Id : 6232172031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following words have a pattern. Identify the pattern and fill the blank.

ACE, 1JJ, SQO, BXT,

Options:

KKK

i

JEK
ZAB

KEY

4

Question Number : 40 Question Id : 6232172032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following items have a pattern. Identify the pattern and fill the blank.

B2E, D5H, F12K, H27N,

Options:

J56I

1.

J58Q

i

164Q

=

Q62]

4.

Question Number : 41 Question Id : 6232172033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A man leaves city A at 6.00 am and reaches city B at 10.00 am. Another man leaves city

B at 8.00 am and reaches the city A at 12.00 noon. They will meet at time

Options:



9.00 am

9.30 am

9.45 am

10.00 am

Question Number : 42 Question Id : 6232172034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An year ago, the ratio between Anil’s and Sunil’s salaries was 3:5. The ratio of their
individual salaries of last year and present are 2:3 and 4:5 respectively. If their total
salaries for the present year are X 43,000, the present salary of Anil is

Options:

< 20,000
< 19,600

; < 18,400

< 18,000

Question Number : 43 Question Id : 6232172035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The present expenditure of an employee on food and other items 1s X 2,.590. There is an

increase of prices of 10% on food items and 15% on other items. If the ratio of an
employees expenditure on food items and other items 1s 2:5, by how much should his
expenditure be increased on these items in order that he may maintain the same level of

consumption as before?

Options:



1.

X 360-50
Z.

X 382-50
=,

X 410-75

Question Number : 44 Question Id : 6232172036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The profit earned by selling an article for X 900 is twice the loss incurred when the same

article 1s sold for X 600. At what price should the article be sold to make 30% profit?

Options:

%730

X 810
z.

R 840

3

X910
4,

Question Number : 45 Question Id : 6232172037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What percent simple mterest does a man get for his money when in discounting a bill due

10 months hence. he deducts 10% of the amount of the bill?

Options:
2
11—
3
1.
12 l
3



3=

5% 3
2

14=

. B

Sub-Section Number: 4
Sub-Section 1d: 62321770
Question Shuffling Allowed : No

Question Number : 46 Question Id : 6232172038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If the conclusion of an argument follows from its premise/premises conclusively, that

argument 1s called

Options:

Inductive argument
.,

Deductive argument
Z.

Analogical argument
3

Circular argument
4,

Question Number : 47 Question Id : 6232172039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the following question Assertion and Reasoning statements are given. Based on that

choose correct answer.
Assertion (A) :  All teaching mmplies learning
Reason (R):  Leaming to be useful must be derived from teaching

Options:

1 Both (A) and (B) are true but (R) 1s not a correct explanation of (A)



. (A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

Both (A) and (B) are true; (R) 1s a correct explanation of (A)
4.

Question Number : 48 Question Id : 6232172040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Consider the two premises and the four conclusions drawn from those two premises.

Select the code that expresses conclusion drawn validly from the premises (jointly or
separately).
Premises:
A) All cows are mammals
B) No cats are cows
Conclusions:
I) No cats are mammals
IT) Some cats are mammals
III)  No cows are cats

IV)  No cows are non-manmals
Options:

Only I

1
[and II
2.

; I and IV

. IT and II1

Question Number : 49 Question Id : 6232172041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



You are given a statement followed by three assumptions numbered I, IT and III. You
have to consider the statement and the following assumptions, decide which assumptions
is/are implicit in the statement and choose your answer accordingly statement:
Statement: “If you are intelligent, we are the right people for improving your
performance” — An advertisement of a coaching centre.
Assumptions: I) Brilliant students prefer to join coaching classes
IT) Coaching classes help the students to improve their performance

IIT) No other institute provides such coaching

Options:

1 Only (I) and (II) are implicit
. Only (II) and (III) are implicit
] Only (I) and (III) are implicit

) All are implicit

Question Number : 50 Question Id : 6232172042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following words have some relationships. The two blanks given are also having the
relationships. Identify the two words and choose the correct answer.

Fury: Ire : :

Options:

1 Convulsion : Spasm

, Amusement : Happiness

Joke : Laugh

3

, Dispassion : Emotion



Question Number : 51 Question Id : 6232172043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following words have some relationships. The two blanks given are also having the

relationships. Identify the two words and choose the correct answer.
Wine : Grapes : : Vodka :
Options:

1 Apples
Potatoes
y Oranges

i Flour

Question Number : 52 Question Id : 6232172044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure and answer the question below.

U
/Q [ — Married people
& S Q / = O — People living in joint family

A — School teachers

Married teachers who live in joint family are represented by the letter
Options:

P

1.

Q



Question Number : 53 Question Id : 6232172045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure and answer the question below.

/\ [ 1 — Married people
O — People living in jomt family

A — School teachers

The people who live in joint family but are neither married nor teachers are represented

by the letter

Options:

Q

1.

R

Question Number : 54 Question Id : 6232172046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Study the following figure and answer the question below.

U
[ — Married people
/)\/A _—.
E | S / = O — People living 1n joint family

A — School teachers

Married people who live in joint family but not are school teachers, are represented by

the letter

Options:

S

1.



)
2, P
4, U

Question Number : 55 Question Id : 6232172047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following data gives the number of smartphones sold by five stores P, Q. R. Sand T

in five months. Study this data carefully and answer the question below it.

et @ | g | R B X
January 126 | 121 | 105 | 103 13
February 100 (105 |[112 2 56
March 131 | 116 |95 115 | 215
April 170 | 166 |146 |165 | 282
May 225 234 (204 |295 |408

The total number of smartphones sold by store S in April and May together is what

percent of the number of smartphones sold by Store T in the same months together?

Options:
2
(}()E%
1. i
2y
59= %
o J
.
58; A0
53 -
a
S



Question Number : 56 Question Id : 6232172048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following data gives the number of smartphones sold by five stores P, Q,R.Sand T

in five months. Study this data carefully and answer the question below it.

T~ Store

Month ™__ £ Q " i »
January 126 | 121 (1095 | 163 | 113
February 100 105 | 112 |82 156
March 31 (116 |9 115 | 215
April 170 | 166 | 146 | 165 | 282
May 225 1234 (204 |295 |408

The total number of smartphones sold by all the stores together in July was 25% more
than the total number of smartphones sold by all the stores together in January. How

many smartphones were sold by all the stores together in July?

Options:
745
719
z.
710
3.
695
4,

Question Number : 57 Question Id : 6232172049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following data gives the number of smartphones sold by five stores P, Q. R. Sand T

in five months. Study this data carefully and answer the question below it.

T~ Store
Mﬂnthl%la““au 5 Q - . 9
January 126 | 121 (105 | 103 | 113
February 100 (105 |112 |82 156
March 131 [116 |95 115 | 215
April 170 [ 166 | 146 | 165 | 282
May 225 | 234 |204 | 295 |408

What is the ratio of the total number of smartphones sold by store Q 1n April and May

together to the total number of smartphones sold by stores R 1n the same month together?

Options:

6:7

1

3:7

i

87

=

L9

4.

Question Number : 58 Question Id : 6232172050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of received e-mails read by five persons A, B,
C. D, E on Monday. This number includes the e-mails read and e-mails unread. Assume
that there are no pending e-mails carried forward from previous days to Monday. Data

relates to the number of mails received on Monday only.

A
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B C D
ORead e-mails HUnread e-mails

If the number of e-mails recerved by F was 38% more than that by C and the number of
e-mails read by F was 25% more than that unread by him, then how many e-mails were
read by F?

Options:

230

220

210

)
£
]

Question Number : 59 Question Id : 6232172051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of received e-mails read by five persons A, B,
C. D. E on Monday. This number includes the e-mails read and e-mails unread. Assume
that there are no pending e-mails carried forward from previous days to Monday. Data

relates to the number of mails received on Monday only.

- 330
350 0

(%)
=

230

210

=
=2

8

20 4

1208

AR

AR

i

A B B D E
ORead e-mails @AUnread e-mails

The percentage of read e-mails for A and G (out of received e-mails for each of them)
were equal. If the number of e-mails received by G 1s 360, then how many e-mails were
unread by G?

Options:

. 235

Question Number : 60 Question Id : 6232172052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of received e-mails read by five persons A, B,
C. D, E on Monday. This number includes the e-mails read and e-mails unread. Assume
that there are no pending e-mails carried forward from previous days to Monday. Data

relates to the number of mails received on Monday only.
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Out of the e-mails read by B. 60% are from male customers. The number of unread
e-mails from female customers is 51 less than that of the read e-mails from female

customers. What 1s the number of unread e-mails from male customers?

Question Number : 61 Question Id : 6232172053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the distribution of students in different courses. Study this

chart carefully and answer the following question. Total number of students = 6,800.

MBBS 21.6°

B .th;m
46.8

MBA 93.6°
B.Ed 64.8°

B.Tech 25.2°

How much less percentage (approximately) of students are there in MBBS course as

compared to B.Sc. course?

Options:

80%

60%

2

40%
3

Question Number : 62 Question Id : 6232172054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the distribution of students in different courses. Study this

chart carefully and answer the following question. Total number of students = 6.800.

MBBS 21.6°

B .Phal;m
468

MBA 93.6°
B.Ed6458°

B.Tech 25.2°
If in MBA the ratio of boys to girls 1s 5:3 and 20% of boys are in Finance course, then

what 1s the number of boys in the Finance course?

Options:

Question Number : 63 Question Id : 6232172055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the distribution of students in different courses. Study this

chart carefully and answer the following question. Total number of students = 6.800.

MBBS 21.6°

B .Pharm
46.8°

MBA 93.6°
B.Ed 64.8°

B.Tech 25.2°

The number of students in MBBS and B.Tech together is what percent of that in B.Ed

course’?

Options:

| 69.33%

72.22%
z.

76%

&

79.34%

Sub-Section Number: 5
Sub-Section 1d: 62321771
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232172056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following refers to unsolicited e-mails in the form of advertising or chain

letters?

Options:



y Inbox

Trash
Spam

. Compose

Question Number : 65 Question Id : 6232172057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The tags placed on an animal to record and track in a database all of the animal’s

movements 1s knows as

Options:

POS

1.

PPS

2.

GPS

5

RFID

4,

Question Number : 66 Question Id : 6232172058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Internal communication within institutions is done through

Options:

WAN

1.

LAN

2,

EBB

i



4,

Question Number : 67 Question Id : 6232172059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The total number of command buttons on the title bar of an opened word processing

windows 1s
Options:

6

1.

L

T

Question Number : 68 Question Id : 6232172060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The complete (full)) form of USB as used in computer related activities 1s
Options:

Universal Security Block
1:;

Universal Serial Bus
2.

- United Serial Bus

; Ultra Security Block

Question Number : 69 Question Id : 6232172061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The key on the QWERTY keyboard used to produce alphabetic upper case letters 1s

Options:



; Home
Tab

Num lock
Caps lock

Question Number : 70 Question Id : 6232172062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which one of the following is not included 1n the basic functions of operating system?
Options:

1 Job control

, Job scheduling

Memory management
3.

Data mana gement

Question Number : 71 Question Id : 6232172063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The temporary working memory of a computer system 1s the
Options:

arithmetic logic unit
1:;

flash memory
z.

random access mecmory
>,



read only memory
4,

Question Number : 72 Question Id : 6232172064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A compiler is a software which converts

Options:

characters to bits
..

high level language to machine language
2.

;s words to bits

machine language to high level language
4.

Question Number : 73 Question Id : 6232172065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The aggregation of all eco systems on the earth 1s referred to as

Options:

1 Atmosphere

. Ecosphere

Stratosphere
=,

) Tonosphere

Question Number : 74 Question Id : 6232172066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In which of the following area does radiant dramnage fully develop?

Options:



On a pomt bar

Near a delta

Around an ox-bow lake

Around a volcano

Question Number : 75 Question Id : 6232172067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When the environmental lapse rate is less than the adiabatic lapse rate, the atmosphere is

Options:

. Stable

, Moderately unstable

. High unstable

Neutral

Question Number : 76 Question Id : 6232172068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
When a disaster has occurred. the early action in a Disaster Management Plan could be:

Options:
1 Response and Rescue

, Warning and preparedness

Relief and Rehabilitation
izt

) Shelter and food supply



Question Number : 77 Question Id : 6232172069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Ecosystem diversity can be best studied using the

Options:

Topographical maps
1

, Geoinformatics

Geodesy
3.

Geology
4

Question Number : 78 Question Id : 6232172070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The geometric mean of the data 2. 4, 27 1s

Options:

Question Number : 79 Question Id : 6232172071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Which of the following frequency region 1s part of sun’s radiation?
Options:

Visible frequency region
1:;

, Infrared frequency region



. Ultraviolet frequency region

; All of the other options

Question Number : 80 Question Id : 6232172072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the standard hydrogen electrode, the pressure of hydrogen and hydrogen ion

concentration respectively are:
Options:

1 atm and 10 mol/L

10 atm and 1mol/L

z.

1 atm and 1mol/L

1 atm and S mol/L

Question Number : 81 Question Id : 6232172073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
About half of the earth’s photosynthesis 1s carried out by
Options:

Cyanobacteria
s

Rainforest flora

Protists
=

, Marine phytoplankton

Question Number : 82 Question Id : 6232172074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The purpose of value education is best served by focussing on
Options:
cultural practices prevailing in the society
1

religious, moral practices and mstruction
" _

norms of conduct laid down by a social group
=,

concern of human values

Question Number : 83 Question Id : 6232172075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The design of 5+3+3+4 suggested by New Education Policy; 2019 (Draft) in which the
first stage of 5 year education 1s divided mto

Options:

pre-primary school and post primary school
1

primary school and pre-primary school
z. -

pre-primary school | class-I and class-II
=

pre-primary _class-IV and class-V
4

Question Number : 84 Question Id : 6232172076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

One of the following is not related to the aims of New Education Policy, 2019 (Draft)
Options:

1 Justice

Access



Equality

=

Equity

4.

Question Number : 85 Question Id : 6232172077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The number of languages recognized by the 8" schedule of constitution of India in the beginning

Options:
. 20

22
2

15
=,

12
4,

Question Number : 86 Question Id : 6232172078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The Indian Education Policy 1s mostly influenced by the following method
Options:

1 Materialism

. Metaphysics

Empencism
3.

, Constructivism

Question Number : 87 Question Id : 6232172079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The leamming of outcomes envisaged by Benzamin Bloom has been confined to the

following three domains.
Options:

Precisim — Affective — Psychomotor
1

Psychomotor — Perceplin — Attitude
2.

Cognitive — Affective — Psychomotor
=

) Articulation — Perception — Affective

Question Number : 88 Question Id : 6232172080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The document on Examination Reforms — A plan of action by UGC brought out to focus
mainly on

Options:

Choice-based credit system
.,

Open book system
2.

Internal assessment
=,

Assessment by students

Question Number : 89 Question Id : 6232172081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The technic of ‘School Mapping” 1s used for
Options:

Mobilising finance for education
1:;



Mobilising people for education
Z.

- Establishing school committees

) Introducing new schools

Question Number : 90 Question Id : 6232172082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Who said that “adult education as inclusive and of education of politics, of citizenship

and also of morality™?

Options:

. SN Mukerjee

Humayun Kabir
2.

K.G. Sayyidam
=,

Jakir Hussian
4,

PHILOSOPHY

Section Id : 62321724
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: Q0
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1

Sub-Section 1d: 62321772

Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 6232172083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which of the following systems of Indian philosophy are not atman-centric?
Options:

Nyaya-Vaisesika
1

Samkhya-Yoga

2.

] Jainism and Buddhism

Carvaka and Buddhism

Question Number : 92 Question Id : 6232172084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The mahavakya “sarvam khalu midam brhman” belongs to---------------------

Options:

Chandogya

Brihadaranyaka

2
Mundaka
3.
. Mandukya

Question Number : 93 Question Id : 6232172085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Carvaka did not admit the following element:

Options:

Earth

1.



Fire

Aether

water

Question Number : 94 Question Id : 6232172086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following are the realist schools of Buddhism:

Options:

Yogacara and Vijnanavada
1

Sautrantika and Madhyamika

Vaibhasika and Sautrantika

Vaibhasika and Madhyamika

Question Number : 95 Question Id : 6232172087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In Jainism the term ‘dharma’ signifies

Options:
Righteousness
1
Motion

2,



] Obligation

Duty
4,

Question Number : 96 Question Id : 6232172088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Nyaya, aloukika pratyaksa is classified into

Options:

1 Samanyalaksana, jnanalaksana, and yoga

Samanyalaksana, jnanalaksana, and yogaja
2,

_ Samanyalaksana, jnanalaksana, and sruta

Samanyalaksana, jnanalaksana, and mati
4

Question Number : 97 Question Id : 6232172089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

According to Vaisesika, “Sky-lotus” can be brought under the category of

Options:

Pragabhava
1.

PradhvansAbhava

AnyonyAbhava

Atyantabhava

4



Question Number : 98 Question Id : 6232172090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is not true of Samkhya’s Prakriti?
Options:

Possesses consciousness

] Dynamic

Possesses gunas
3

Not a mechanical aggregate of its gunas
4

Question Number : 99 Question Id : 6232172091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Patanjali, the following is not the source of right knowledge:

Options:
. Direct cognition
. Inference

Comparison

Testimony
4.

Question Number : 100 Question Id : 6232172092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match the following

List—1 List -2

(a) Mimamsa (i) Aprathaksiddhi
(b) Advaita (i) Asatkaryavada
(c) Visistadvaita (iii) Sadasadvilaksana
(d) Dvaita (iv) Karma

. a-N b- Il c- | d- |l

_a-lll b-Il C-| d-IV

. a-I1Vv b - Il c- |l d-|
a - |l b- IV c- | d—lli

4.

Question Number : 101 Question Id : 6232172093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is a correct sequence:

Options:

samadhipada, sadhanapada, vibhutipada, kaivalyapada

kaivalyapada, samadhipada, sadhanapada, vibhutipada,



_ samadhipada, saGdhanapada, kaivalyapada, vibhutipada,
sadhanapada, vibhutipada, kaivalyapada, samadhipada,

Question Number : 102 Question Id : 6232172094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Thales, the substance from which everything originated is

Options:

Fire

Indeterminate Stuff

=5

Water
=,
. Air

Question Number : 103 Question Id : 6232172095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The statement ‘Know they-self’ is made by

Options:

Anaximander
1.

Pythagoras
Socrates

. Plotinus



Question Number : 104 Question Id : 6232172096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Plato, knowledge is possible through

Options:

Recollection

Sense-experience

2.

. Reason
Inference

4

Question Number : 105 Question Id : 6232172097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Aristotle made a distinction between

Options:

1 Opinion and belief

. Freedom and necessity

Potentiality and actuality
= : ais

Appearance and reality

Question Number : 106 Question Id : 6232172098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The book Confessions was authored by

Options:

1 St. Anselm

, St. Thomas Aquinas

St. Augustine
=,

) St. Bonaventure

Question Number : 107 Question Id : 6232172099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

St. Anselm is known for his

Options:

Causal argument

. Ontological Argument

Argument from design
=

Cosmological argument

Question Number : 108 Question Id : 6232172100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Descartes, mind and body interact in the

Options:

1 Pineal gland



Endocrine gland

Pituitary gland

Adrenal gland

4

Question Number : 109 Question Id : 6232172101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Spinoza advocated ___________

Options:

Panentheism

Pantheism

Deism
Henotheism

Question Number : 110 Question Id : 6232172102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match the following

List—1 List -2
(a) Leibniz (I) Sense-impressions
(b) Locke (II) Identity of indiscernibles
(c) Berkeley (IlMsubstance is unknowable
(d) Hume (IV)Subjective idealism
Options:
a-1V b - Il C -l d-ll
1
a -l b -1l c- | d-IV
2
a-l1Vv b -1l c- Il d-|
3
a- |l b -l c-1V d-|I
4,

Question Number : 111 Question Id : 6232172103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

For Kant, genuine knowledge consistsin___________________
Options:

Analytic judgments
: synthetic judgments

. Synthetic a priori judgments

. A priori judgments



Question Number : 112 Question Id : 6232172104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Hegel’s magnum opus is

Options:

. Being and Time

, Being and Nothingness
. Phenomenology of Spirit

Logical Investigations
4,

Question Number : 113 Question Id : 6232172105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Bhagavadgita emphasizedon____ . _______
Options:

Svadharma

Sadharanadharma
2.

Varnadharma

Asramadhara
4,

Question Number : 114 Question Id : 6232172106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The basis of purusarthas is

Options:



Dharma

1.
Artha
o
Kama
=
) Moksa

Question Number : 115 Question Id : 6232172107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following is nota Rna

Options:

Rsi

1.
Pitr
2.
Bhuta
=3
Bhratr
4

Question Number : 116 Question Id : 6232172108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Mimamsakas postulated an unseen and unseeable ethical potency called

Options:
Apurva
1
Preyas



Adrsta

3

Vyapti

4.

Question Number : 117 Question Id : 6232172109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In Nyaya syllogism, sadhya is regarded as a

Options:

1 Major term

Middle term

£
Minor term
3
Major premise
4

Question Number : 118 Question 1d : 6232172110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In the Bhagavadgita, the term ‘lokasamgraha’ means

Options:

One should not look for the fruits of one’s actions
1.

, One should use the fruits of one’s actions for the sake of society

. Not allowing people to fall from the path of dharma



To perform one’s own duties according to one’s svadharma
4.

Question Number : 119 Question Id : 6232172111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Self-purification and study are part of the following limb of astdnnga-yoga:
Options:

Yama

; Niyama
Asana

Pratyahadra

Question Number : 120 Question 1d : 6232172112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Match the following

List—1 List -2
(a) Samvara-nirjara () Yoga
(b) Upaya-Kaushal (ID) Jainism
(c) Hedonism 1) Buddhism
(d) Samprajnatasamadhi (1v)Carvaka

Options:

a-IVv b- Il c-| d- Il



a -l b-Il c- | d- IV

2.
a- |V b -l c- Il d- |
2.
a-ll b -1l c-1V d- |
4.

Question Number : 121 Question Id : 6232172113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

“Duty for duty sake” is the statement made by

Options:

Kant

Hume

Moore
Mill

Question Number : 122 Question Id : 6232172114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is not a cardinal virtue?

Options:

Prudence
1.

Temperance
2



Fortitude

3

Truth

Question Number : 123 Question 1d : 6232172115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The view that basic moral propositions are self-evident is known as

Options:

1 Ethical prescriptivism

Ethical Intuitionism

. Ethical Descriptivism

) Deontic ethics

Question Number : 124 Question Id : 6232172116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The actions of an ethical altruist are

Options:

1 For his own well-being

For the well-being of others
2.

- Partly for the well-being of one-self and partly for others

, Neither for well-being of one-self nor for others



Question Number : 125 Question Id : 6232172117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Justice is the virtue or quality of mind is the view of

Options:

Plato

Aristotle

z

Rawls

Russell
4,

Question Number : 126 Question Id : 6232172118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Ethical cognitivists view that

Options:

Ethical sentences express propositions therefore, they are either true or false
1

Ethical sentences are pseudo-propositions

=z,

Ethical utterances are mere emotions of the speaker
=,

Ethical utterances are mere exhortations to moral virtue
Ly

Question Number : 127 Question Id : 6232172119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Jeremy Bentham advocated

Options:



Intuitionism

. Utilitarianism
Prescriptivism

Descriptivism

Question Number : 128 Question Id : 6232172120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The source of all moral rules is God.is the view of

Options:

Cultural relativism

Super-naturalism
Z.

_ Subjectivism

Ethical realism

Question Number : 129 Question Id : 6232172121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

According to ethical prescriptivism, a universalizable prescription is in the form of

Options:

You can do this

. You have to do this



You ought to do this
=

You are supposed to do this
4,

Question Number : 130 Question Id : 6232172122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the following

List—1 List -2
(a) Aristotle (1) The Methods of Ethics
(b) Kant (I) Nicomachean Ethics
(c) Henry Sidgwick (IIT) Utilitarianism
(d) J.S. Mill (IV) The Metaphysic of Morals
Options:
1_.‘El—l'%./’ b -l c-| d-Il
a-ll b-IV c-I d -l
2
a-I|V b - I c- Il d-|
e
a -l b -l c-1V d-|
4,

Question Number : 131 Question Id : 6232172123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

One watch-word for Universal religion, for Vivekananda is

Options:

1 Tolerance



Equality

Acceptance
&%

Universality

Question Number : 132 Question Id : 6232172124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Sat-cit-ananda for Sri Aurobindoissameas ______ . ______
Options:

[Hlumined mind

) Supermind

Intuitive mind

Higher mind

Question Number : 133 Question 1d : 6232172125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

According to Igbal, the nature of God is known through

Options:

Demonstrative proof

. Intuition



Ontological Proof

Teleological proof
4

Question Number : 134 Question Id : 6232172126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

According to Tagore, the infinite nature of man is
Options:

Dynamic and ever-growing

1.

Spiritual
Z.

Divine
=

Absolute
4

Question Number : 135 Question Id : 6232172127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

K.C. Bhattacharya equated subject with

Options:

1 Ego
Consciousness

Freedom

Knower



Question Number : 136 Question Id : 6232172128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Gandhi’s criticism of modern civilization is found in his work-

Options:

1 My Experiments with Truth

Hind Swaraj
2.
Harijan
=,
Young India
4

Question Number : 137 Question Id ;: 6232172129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following philosopher is known for his notion of ‘choiceless awareness'

Options:

Gandhi

, Tagore

J. Krishnamurti

Sri Aurobindo

Question Number : 138 Question Id : 6232172130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

D.D. Upadhyaya advocated

Options:



Integral humanism

Radical Humanism

Metaphysical humanism

Dialectical humanism

Question Number : 139 Question 1d : 6232172131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Narayana Guru through his teachings propagated

Options:

1 Humanism

Universal religion
2.

. Spiritual freedom and social equality

Neo- Buddhism

4

Question Number : 140 Question Id : 6232172132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match the following

List—1 List -2
(a) B.R. Ambedkar (D Tirukkural
(b) Jotiba Phule (ID Annihilation of Caste
(c) M.N. Roy (1) Tritiya Ratna

(d) Tiruvalluvar (IV) Reason, Romanticism, and Revolution



Options:

a-IVv b -1 c-| d- Il
a-ll b - IV &= d-
a-IV b -1l c- Il d-|

a -l b- 1l c-1V d-|

Question Number : 141 Question Id : 6232172133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Logical positivists introduced the principle of verification to eliminate

Options:

Metaphysics

1.

X Religion

Aesthetics

Morality

Question Number : 142 Question Id : 6232172134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

G.E. Moore's philosophy can be characterized as

Options:



Logical atomism
1.

] Logical positivism

Ordinary language philosophy

Commonsense realism
4

Question Number : 143 Question Id : 6232172135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Russell’s theory of descriptions is intended to save

Options:

Law of identity

1

Law of non-contradiction

Law of excluded middle

Proper names
4,

Question Number : 144 Question 1d : 6232172136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In his “Two Dogmas of Empiricism”, Quine holds that the distinction between

Options:

. analytic and synthetic is logically ill-founded

_ sense and reference is logically ill-founded



meaning and sense is logically ill-founded
=,

statement and proposition is logically ill-founded
4.

Question Number : 145 Question Id : 6232172137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Who authored the work Phenomenology of Perception?

Options:

Jean-Paul Sartre

, Gottlob Frege

Maurice Merleau-Ponty

, Soren Kierkegaard

Question Number : 146 Question Id : 6232172138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Richard Rorty proposed

Options:

Critical philosophy

Philosophy of ‘other’

First philosophy

o

Edifying Philosophy
4.



Question Number : 147 Question Id : 6232172139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Truth is subjective is the view of

Options:
. Kierkegaard
Husser]
2.
] Heidegger
Sartre
4

Question Number : 148 Question Id : 6232172140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to William James,

Options:

1 Idea happens to be true

Truth happens to an idea
z.

Idea is true

. Truth is an idea

Question Number : 149 Question Id : 6232172141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who proposed ethics as First Philosophy?

Options:



Kierkegaard

1.

, H.P.Grice

Peter Strawson
=

Emmanuel Levinas
4,

Question Number : 150 Question Id : 6232172142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match the following

List—1 List -2
(a) P.F. Strawson (D Will to Power
(b) A.J. Ayer (D) Epoche
(c) Husserl (IIT) In Defense of a Dogma
(d) Nietzsche (IV) The Problem of Knowledge
Options:
a- Vv b -l c-l d- Il
1
a -l b-1V c-| d - I
2
a - |l b-1V c- Il d-|I
=
a-ll b -l c-1V d-|
4,

Question Number : 151 Question Id : 6232172143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

Narada questions Yudhisthir to

Options:

Elicit right answers

Remind him of their relevance and complexity

2.

Test the knowledge of Yudhisthir
=

Show how Narada is capable of asking questions
4

Question Number : 152 Question Id : 6232172144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following is not a pillar of state-craft, according to Kautilya.

Options:

. Danda

" Swamy

Amatya

o

Drohi
4,

Question Number : 153 Question Id : 6232172145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

"The concept of Total Revolution” is the brainchild of

Options:

, Tagore



Gandhi

z.

. Jayaprakash Narayan

. Ambedkar

Question Number : 154 Question Id : 6232172146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Swadeshi movement was basically

Options:

An economic strategy against the British

A social strategy against the British

2

. A military strategy against the British

None of the other options
4

Question Number : 155 Question Id : 6232172147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Dr. B. R. Ambedkar fought for

Options:

Economic justice

Social justice

Natural justice



Ethnic Justice

Question Number : 156 Question Id : 6232172148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Family in Indian context is viewed as

Options:

1 An ideal heterogenous unit

An ideal homogenous unit

2.

A Patriarchal unit
=

A matriarchal unit
4

Question Number : 157 Question Id ;: 6232172149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following is not a fundamental right, according to Indian constitution.

Options:

Right to freedom

1.

: Right against exploitation

] Freedom of religion

, Right to employment

Question Number : 158 Question Id : 6232172150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



A state that maintains neutrality towards all religions is called

Options:

Secular state

Democratic state

2.

Ideal state
=

Liberal state
4

Question Number : 159 Question Id : 6232172151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Affirmative action in the Indian context is intended to help

Options:

1 Socially disadvantaged groups

) Economically disadvantaged groups

. Culturally disadvantaged groups

Religious minorities

Question Number : 160 Question Id : 6232172152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match the following

List—1 List -2
(a) Plato (D Liberty
(b) Hobbes () |dea of equality
(c) Isaiah Berlin (111) ldeal society
(d) Bernard Williams (IV) Social Contract theory
Options:
a- Vv b -1l c-l d- Il
1
a -l b-1V c- |l d-|
2
. a-IVv b -1l c- 1l d-|
a- |l b - Il c-1V d-|
4,

Question Number : 161 Question Id : 6232172153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The author Anarchy, State and Utopia is

Options:

Charles Taylor

1.

, Rawls

Amartya Sen
=



; Robert Nozick

Question Number : 162 Question Id : 6232172154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
According to Marx, the ultimate aim of communism is to promote

Options:

Social justice
1.

Classless society

Capitalist society

3

Socialist society

Question Number : 163 Question Id : 6232172155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Exploitation and the degradation of the natural world and oppression of women come

Options:

1 Radical feminism

Liberal feminism
Eco-feminism

J Socialist feminism

Question Number : 164 Question Id : 6232172156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The author of Multicultural Citizenship is

Options:

Will Kymlicka

1.

Michael Sandel

2

Maclntyre
=

. Dworkin

Question Number : 165 Question Id : 6232172157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Ronald Dworkin held justice as

Options:

. Equality

Freedom
%

Entitlement

Fairness

Question Number : 166 Question Id : 6232172158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

John Rawls proposed

Options:

Distributive justice
1



, Social justice

Economic justice

Political justice

Question Number : 167 Question Id : 6232172159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Michael J.Sandel subscribed to

Options:

1 Communitarianism

Multiculturalism
2.

. Liberalism

. Liberal socialism

Question Number : 168 Question Id : 6232172160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Patriarchy basically represents a society wherein there is a domination of a/an

Options:

Female member in the family
1

Eldest male or female person of the family
2.

Male member of the family
=



Group of male members of the family

Question Number : 169 Question Id : 6232172161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Congress of Vienna in 1814 discussed the minority rights of-

Options:

German Jews
1.

American Blacks

z.

Muslims living in non-Muslim countries
=3

Aborigines of Australia
4

Question Number : 170 Question Id : 6232172162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Gender in general is viewed as a

Options:

Natural phenomenon

; Social construct

Linguistic construct

; Scientific division



Question Number : 171 Question Id : 6232172163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Validity is predicated to

Options:
) Propositions
A Statements
X Assertions
Arguments

Question Number : 172 Question Id : 6232172164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
According to the law of excluded middle, a proposition

Options:

Is true if it is true

Cannot be both true and false simultaneously

z.
Must be either true or false
=
) Must be true or false or indeterminate

Question Number : 173 Question 1d : 6232172165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In the Square of Opposition E&O are

Options:



Sub-alternations

Sub-contraries
Contraries

Contradictories
4

Question Number : 174 Question Id : 6232172166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following is not a property of an axiom system.
Options:
: Completeness

Consistency
2

. Independence

Flexible
4

Question Number : 175 Question Id ;: 6232172167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Peter Singer championed the cause of

Options:

Human rights
1

Child rights

2



. Animal rights

. Labour rights

Question Number : 176 Question 1d : 6232172168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The term ‘land ethic’ was coined by

Options:

. Arne Naess

Peter Singer

s

Also-Leopold
3

Judith Butler
4

Question Number : 177 Question Id : 6232172169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Options:

1 Personal and corporate standards of behavior of the professionals

, Moral standards of the professionals

Moral standards of the employers

Corporate standards of the companies
4



Question Number : 178 Question Id : 6232172170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Alternately euthanasia is called

Options:

1 Deliberate killing

Murder

. Mercy killing

Killing of pain

4.

Question Number : 179 Question Id ;: 6232172171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Digital divide is part of .

Options:

Bio-technology

Information Technology
2

Medical ethics

Professional ethics

Question Number : 180 Question Id : 6232172172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In the truth-table for implication, if p is false and q is true the truth value of
implication is



Options:

. Both true and false

True
2.

False

Neither true nor false
4



